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AP A A AT E 2 FE-A] A (o} AL v} (9l D)
= AHEni=y He 3= Helxy oK H|Z
103 |REAF 098000 |3h}2-88(67204) | 2,467,790
103 |REAF 098001 |3h+238 (67104) 40
103 |REAF 098002 |E|Z]1585652 7,379,700
103 |HEF 098003 | =128 (318211) | 1,011,921
103 |REAF 098004 |3P238 (39004) 79
$HA| 10,859,530
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1= HEnEy H = Helix ol H|Z
108 |2PdmiEs 000541 |1x7F==ty gl 170,000
A 170,000
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APl A AW AT E 23 FE-H A (o)A} e}) (&9 D)
A= A&-al=d H 3= Helxd =24 H|Z
136 |AgAlE 000114 |25 46,160
136 | A 000115 |AHASA) 4,590
136 | A 000117 |FHolAEA] 1,116,000
A 1,166,750
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APl A AE AT E 2 L E-A A (o} &} v}) (9] 9D
A= A™ni=Sm H A= Helxy =% H|Z
251 |ePdmiodw 000279 |F2IB|A} HeFe 49,500
251  |9Pdvlid= 000544 |A9Fed 100,000
A 149,500
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AP A A AT E 2 FE-A] A (o} AL v} (9l D)
= AHEni=y He 3= Helxy oK H|Z
254 |l 000111 |=71AF 128,340
254 |5 000112 |AZARE 112,400
254 |5 000222 |81 3 37,040
3HA| 277,780
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AP O A A d I o= FE-A A (o} A v} (9l D)
1= A&Hn=d H 1= Helx™ 24 H|Z
261 |[HAEAE 097002 |HF77AIA| 2,017,833
A 2,017,833
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APl A AE AT E 2 FE-A A (o)A} e}) (&) D)
A= AHnsy H 1= Helx- 24 H|Z
262 |WAFHE 000352 |AFIEE G4A3) 110,000
A 110,000




